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Table 1 Experimental results.
oo ooo (0)|00o (%) 00 (%) |FO
0 86.7 92.1| 89.3
ooo 1 65.2 92.5 | 76.5
2 51.6 92.6 | 66.3
0 78.2 93.7 | 85.2
ooog 1 60.4 93.8 | 73.5
2 48.2 93.8 | 63.7
0 42.0 92.3 | 57.8
ooo 1 41.8 92.2 | 57.5
2 35.5 91.9 | 51.2
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Abstract This paper proposes a method for evaluating incremental parsers quantitatively. The method
defines two measures of incremental parser performance: precision and incrementality by extending the

PARSEVAL measures, which are well-known measures for phrase-structure parsers.

Key words parsing, PARSEVAL measures, incrementality, labelled precision, labelled recall



